6. A CE amplifier with transistor parameters 3 = 100, Vg = 0.7V is shown in figure 3 (10]

a) Calculate the DC parameters Igg and Iog
b) Calculate the hybrid = model parameters rr and gm

¢) Calculate the lower cut-off frequency due to Cey, Cea, and Cg
f) Calculate the overall lower cut-off frequency of the circuit
g) Calculate the mid-band voltage gain in dB

h) Plot the frequency response of the circuit
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Figure 3: Question 6
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Answers: Igg = 15.7TpA  Icg = 1.5TmA 1, =1.65kQ g, = 60.4mA/V
frcc1 =6.7T1Hz frcce =25.6THz frce =316.8Hz fr = 316.8Hz
Avamrip = 33.9dB
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